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= 5,000
Al 5,000
207 A RO H| 5,000 0 5,000
= 2,500
Al 2,500
03 A& &2l 5,000 0 5,000
O34ty 237 5,000,000& 5,000
= 2,500
Al 2,500
405 XHobF S HI 5,000 0 5,000
= 2,500
Al 2,500
01 AL 2 ZFH S| 5,000 0 5,000
O EF=staels 7Y 5,000,000 5,000
= 2,500
Al 2,500
SHISSE BENY AY(2XE) 36,200 0 36,200
| 18,100
< 5,430
Al 12,670
207 A RO H| 31,200 0 31,200
| 15,600
< 4,680
Al 10,920
03 A& &2l 31,200 0 31,200
SHRSE S A L H2PY
31,200,000& 31,200
| 15,600
< 4,680
Al 10,920




FA: JlsE21
M Jetsoisy
©el: sYenARy CEEEED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
405 XHoHF S HI 5,000 0 5,000
| 2,500
< 750
Al 1,750
01 XL 2 ZFH S| 5,000 0 5,000
OsHI2=& EFI| 2 5,000
| 2,500
< 750
Al 1,750
MASEHSHY 366,597 398,748 A 32,151
do=g SAUAMEL 22 366,597 398,748 A 32,151
IStSsESAEE 23 31,077 30,558 519
101 @124 dl 18,555 18,036 519
04 JIZHHZ2XREES 18,555 18,036 519
OUSIISHEZANEE 29 BEX 2R 18,555
oJdlE=a 68,7203 18,555
201 £B-2dH| 2,522 2,522 0
02 3323l 2,522 2,522 0
O=322<LHA 582
OA & ZEH R X 1,940
207 A RO 10,000 10,000 0
03 Al & 12 HI 10,000 10,000 0
OASAEE 2EME 10,000, 000& 10,000
LOHTHEH & A DA M A 134,439 162,608 A 28,169
101 14 Hl 65,559 63,728 1,831
04 DI 22 XRHEES 65,559 63,728 1,831
O2HTHEY OILIMZ R A E OIS 65,559
oJlEa 02 +6H «159L 65,559
201 £B-2dH| 3,880 3,880 0
02 8323l 3,880 3,880 0
OAN&EHl S Xl 3,880
206 M= Hl 50,000 50,000 0
01 =8l 50,000 50,000 0
o= &8 s8 4 50,000, 000& 50,000
207 A RO 15,000 15,000 0
03 A& & 224l 15,000 15,000 0
O HTHEY Of LI M 2 Xt 15,000, 000& 15,000
M X2 29 198,081 185,082 12,999
101 @14 Hl 77,929 64,930 12,999




2N JlsE2ad
Xl

E: MASHRH
& FHsg SHAMEL 23 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 JIZHHZ2XREES 77,929 64,930 12,999
OXZHLd 28 EX8 77,929
oJdlE=a 68,7203 x14H 81 77,929
201 £B-2dH| 80,152 80,152 0
01 At 22l 8,372 8,372 0
OBt~ 8,372
o foAHEH 230,000& 1200 & 2,760
o It Ztel ] 4,562,000 4,562
o =) HHZE 550,000& 550
o RAUAA ARES 500,000& 500
02 =224l 71,780 71,780 0
O=323LHA 67,900
o MIIRE ¥ &k 23 67,900,000& 67,900
OAEZHI S X 3,880,000& 3,880
207 RO 40,000 40,000 0
03 A& &2l 40,000 40,000 0
OMSHH X, BtOIAAHE Al S 40,000,000 40,000
MOl & MES THHh 453+ 3,000 2,500 500
206 T 24 3,000 2,500 500
01 =8l 3,000 2,500 500
OMII= & MEAS Y 43 HE
3,000,000& 3,000
AL ,994,481 388,212 269
= 168,747
= 247,749
Al ,577,985
cEwe =4 ,994,481 388,212 269
= 168,747
< 247,749
Al ,577,985
A&k X & , 173,075 167,316 759
201 Let2d] 38,800 42,816 ,016
01 At 22l 18,800 22,816 ,016
OB =+=EH| 10,000
o XX A HRF2 2,000,000 2,000
o SXtatd HAAEY L= IMHAA M=
1,000, 000& 1,000
o SA&dH IMANY 7XF=& 1,000,000 1,000
o UAEFHIAHK , EF 22 & U= HA
2,000,000& 2,000
o It EFAHARHIX sl M= HE
2,000,000& 2,000
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2AN: =82
Ha: sAFWAAG
el AlEge] =4 o &)
- _ _ RE]
- B2 . a2 (3H) - HEAY - B A= %Eﬁ HR=2
==l 4,712
o =M HEFAX XS 4,712,000 4,712
© & x| 19,200
o HEWHA &0l
B A 32 %80H*800,000& 19,200
301 et A =2 5,000 7,000 A 2,000
09 #HAIAHI XIS 2 5,000 7,000 A 2,000
O=ZHNSANEEF &4 BAa3 5,000,000& 5,000
401 Al HI L E0HHI 30,000 30,000 0
04 SHAF2t&H Al & B 30,000 30,000 0
O=2HESXNEs =H WE M8 & I 30,000
o NSOoX PE YSH LU NSAE X ,BHA
0,000,000& 30,000
ENMARNR(EX) 300,000 144,000 156,000
= 120,000
Al 180,000
308 XX G SOl A 300,000 0 300,000
o= 120,000
Al 180,000
10 212 SUHUSHEAXEAE AL Y| 300,000 0 300,000
02020 2 HMESA etetsl X 300,000,000 300,000
o= 120,000
Al 180,000
FAMAT(HEHAT X)) (BEX) 275,094 0 275,094
= 168,747
& 21,269
Al 85,078
307 QI2t0| & 275,094 0 275,094
= 168,747
= 21,269
Al 85,078
02 Q2B AMAIE E =X 275,094 0 275,094
OSAHMIBMAER FUEAXEl XA
275,094 ,000& 275,094
= 168,747
& 21,269
Al 85,078
TAMAT A (HEAS ) (EX) 144,000 0 144,000
& 100,000
Al 44,000
307 2I2t0| & 144,000 0 144,000
& 100,000
Al 44,000
02 Q2B AMAIE E =X 144,000 0 144,000
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